
W115001
2.5ACS

W115002

HNM0005-010
HWM0003-010
HWM0002-010 HBM0004-030

T5176

T5176

ITEM 
NO. PART NUMBER DESCRIPTION S4450304/QTY.

1 W115001 ASSY, 2.5" MUFFLER 1
2 W115002 ASSY, 2.5" MUFFLER 1
3 T5176 TIP, 2.5" IN, 4" OD OUT, 6.5" L 2
4 2.5ACS CLAMP, 2.5" BAND,  STAINLESS STEEL 1
5 HBM0004-030 BOLT, HEX, M10-1.5X30MM, 8.8 2
6 HNM0005-010 M10X1.5 HEX NUT, CLASS 10.9, ZINC PLATE 2
7 HWM0002-010 WASHER, FLAT, M10, ZINC COATED 2
8 HWM0003-010 M10 LOCKWASHER 2

2019-2023 MAZDA 3 HATCHBACK FWD/AWD, 2.5/2.5T, 
Axle-Back, 2.5" Dual Rear, Street Profile, Dual Tips

4/13/2023
REV:A

S4450304


	S4450304
	Drawing View2


